T&T5 1.7 Conditional Probability March 27, 2015

2. The table shows information

Can drive Cannot drive
ab‘out a group O.f adults. Male 1 3 4o
(i) A person is chosen at random
from the group. Female 38 12 Se
What is the probability that the person can drive? Fo 20 a0

(i1) A man in the group is chosen at random.
What is the probability that he can drive?

(1ii) Find the probability that a person chosen at random can drive, given that the
person is a female.

| Pcondrive) = Fo - 2
40 9
il P (Caqdﬁ'elu«w)._,_ 3z =y
4o 5
k| P Comstrive fomete) = 29 12
So 25

4. A school enters 120 pupils for the Junior
Certificate maths exam.
The given table shows the details of the entries.

Ordinary Higher
Girls 20 35 sS
Boys 25 40 68

1) Write down th bability that il
(1) rite down the probability that a pupi 20

chosen at random is entered for Ordinary level. %S s
(11) A pupil is chosen at random. This pupil is a girl.

Find the probability that the girl was entered for Higher level.
(iii) A pupil is chosen at random. The pupil was entered for Ordinary level.

Find the probability that the pupil was a boy.

(i) P(Ql—.)'—'- 4 =

3
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5. A bag contains 5 red discs and 3 blue discs.
A disc is taken from the bag and not replaced. A second disc is then taken from the bag.
Find the probability that
(1) the first disc is red
(i) the first 2 discs are red L Diges jntotaX
(ii1) the first two discs are blue
(iv) both discs are the same colour.

Iskdisc. 2ol aisc. P (owkcoma)

G gt )= (Z)E) - %
va £ PUO)= (B)E) - &
Wy LT 0 (5)5)- &
1/a & p(Bﬁ)—; (1?‘)—%)‘__‘ 'E"g

(Y P(R) =3/

(> P(rr)= 4,;5 - 574
@ P (8)= & = 3,
(w Plsame)= PR oe b8)= 5 +3 =13

20. The probabilities of events A, B and C are S
shown in the given Venn diagram.

Use the Venn diagram to find
(i) P(B)
(i) PIANC)
(iii) P(A|B)
(iv) P(C|B)
(v) PLANCH
(vi) P(BJANCQC).

()| P(B) =018+0 602 +o13+065 = 042
@ | P(ANC) = 0-02 +06% = 0|

P(rle)= Plane) (G Prg)= [oag+002] = 0.2 =
?(B») O 42 o

\

| P(cB)= [o072 +005] ot = L
o4 o-

@) P(AACI) = 63 $6-1% = b,q_q
(Vi) P(B,AAC)= 0'__0_}'___ = Oo2 =L

(o-o8+ 00t} 0 S
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